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Areas / Areas from Volume/
Problems that combine Area and Perfect Squares

SOLUTIONS

Sk. Brendan School
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The following 3-D object is composed of identical cubes. The volume of each cube is 8 cm®.
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"The%dcal movie theatre sells two sizes of popcorn. The large bag of popcorn is a scale enlargement . ﬁ co f) 2 7%47
of the small bag. \f‘g\
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The differen@n the exterior surface area of the large popcorn bag and the small popcorn
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(Record your answer in the numerical-response section on the answer sheet.)
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The 3-D object below is a cube with a right cylinder cut out. ||
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